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The question paper is in the form of test booklet. All candidates will be assessed on
identical questions.

2l ﬁt%@#%gmﬁ‘mwmﬁmmqﬁa;mmﬁwmm dfic 3uetets F0E
FEN gfET AT g & gvdg Al S o1 f HeANR AT $Y 3@ B aur st
o &9 Fod ans=reit woreer andt deaft 8 HaTer 9 1@HT| / A separate OMR answer sheet with
carbon impression copy is provided to all candidates for answering. After completion of the

test, the carbon impression of the OMR sheet will be detached and handed over to candidate by
the invigilator which should be carefully retained by the candidate for all future reference.
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v @A 50 A/Q & RS 997 § 35 Rl § o agas & v el aifda gu

T 3TaRTwar gl IR f 19 @ ed o #fF & WA 2.5 A §

An aircraft has a take-off velocity of 50 m/s. What length of runway is needed if the aircraft’s
average acceleration along the ground is 2.5 m/s>?

(a) 100 #HTEI/ 100 m
(b) 150 FHEI/150m
() 320HET/320m
£y 500 HITT/ 500 m

AT B & 9 34 F I H QRIS &l B U C F UM 2:3 F AHud A GFIF
8135 C 20 vk A @ AT ¥ @l A, B 0N C & U GEIHT HI 301 4:4:5 B
A, B a9 C & 9 Hald: fhdell e 87

A and B possess books in the ratio of 3:4. B and C possess them in the ratio 2:3. If € gives 20 books
to A, then A, B and C possess books in the ratio 4:4:5. Find how many books A, B and C originally
had?

(a) 30,40, 60

(b) 60, 80, 100

{c) " 60, 80, 120

(d)y 40,40,50

W@F#Wﬁ%%ﬂﬁﬁgﬁﬁmywmugﬂmWaaagaﬁd
g9m Ife ABCD T ———— BT

The figure formed by joining the consecutive mid points of the sides of a quadrilateral ABCD is a
rhombus if and only if ABCD is

(a) W‘gﬂ?/ Rhombus

(b) 3T/ Rectangle

(c) AN/ Trapezium

(d) I9TeFd H T IS AT/ None of the above

Sin® 45° + cos® 45° - Tan? 45° T HiA 8T
Sin® 45° + cos” 45° — Tan® 45° is equal to

(a) 2

by 1

ey O .
@) -1
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5. Wdﬁmsﬁmﬁwmmmwmdﬁmsfﬂmﬁm%l
Mdﬁmeﬁm%mmﬁimﬁﬁma:mﬁﬁWW HES|

FAI?

One bell rings for every 6 minutes. Another bell rings every 8 minutes. The third bell rings every
9 minutes. After how many minutes all the three bells will ring together? '

(a) 72 TAAC/minutes

;b‘( 144 THAAC/ minutes
(c) 432 fAAZ/minutes
d) 216 A</ minutes

6. wmﬁﬁwﬁmﬁ1o@ﬁ.%msﬁﬁmqwﬁﬁw1m.ﬁmﬁaﬁwé
oy e & = grEi?

The hypotenuse of a right angled triangle is 10 cm and the radius of the inscribed circle is 1 em. Th

perimeter of the triangle in centimeter is
(ay 15

(b)” 22

(c) 24
(d) 26

i aﬁwmﬁwﬁmmﬁmmﬁ1maﬁ%wsoomé

+

WﬁﬁwmﬁSWzﬁ?ﬁﬁ,ﬁW@ﬁm(ﬁaﬁ)%ﬁ?ﬁm?
If a train takes 1 second to cross a telegraph post and 3 seconds to cross a platform 300 metres lon
then the length of the train (in metres) 18

A&y 100
(b) 150
(cy 200
(@ 300

& 10 fw.anm gegEe $7 @ g 10 Ay du ¥ e § ar afas e gen
The kingtic energy of a body of mass 10 kg moving with a velocity of 10 m/sec is
(&) 10031 /100)

(by 250<Tet/250) *
ey 500 et / 5007
(@ 1000 /10007

4 Past Code No.
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T

Ff fora carg fFa T gem?

If the centre-to-centre distance between meshing gears is 150 mm and the velocity ratio is 2:1, what

will be the pitch diameter of the pinion and gear?

(a)

by

10.

(©)
(d)

50 mm and 100 mm

100 mm and 200 mm
150 mm and 300 mm
200 mm and 400 mm

et ufthar & o= WiFATAA g1ar 82 / Sherardising process involve

(a) HIATH Y1387/ Chromium powder

(b) T Ur3sY/ Lead powder

(<) T5ie 9138¢ / Zine powder

11.

12.

(d) Sﬁﬁﬁw U387 / Aluminum powder

H@wﬁwmmﬁamﬁmﬁmﬁmmmﬁ
The property by which metal can be rolled into sheet is
(a) WcGIEIAY/Elasticity

by e aeAaT / Malleability

(¢) d=ddi/Ductility
(d) wIfRrsUTaT/ Tenacity

' Hy g T PERT W ¥

Hy g indicates

(8) O T/ Press fit
(b) T9T 6 /Snug fit
oy TFA3R=w T / Clearance fit
(d) g e /Tight fit

5 Post Code No. 11
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4., Ffrer ¢geT 3GReT %% U/ SATISH DHAWAN SPACE CENTRE SHAR S ET

13, UF @ gedr aiR #, ¥ R e dw wemRh e §1 7E i Fr FEedr &

In a case Hardening process, ammc-ia gas is introduced on steel; the process is known as
(2) WIEATSIEIT/ Cyaniding

57 FEeusET / Nitriding

{c) FISRISTST / Carburizing

(d) 3TAATEISIN / Ammonising

14, Hiel G1q F T grar §7?
Monel metal contains

(2) fvdhel a TegATHH / Nickel and Aluminium
by f%e g aier/ Nickel and copper

(c) Toher @ HITAFA / Nickel and chromium

(d) el a T / Nickel and Zine

15. @Y TRLYGAT 3THROT WE AGH ol & A0 e 9 & 95 39IF 8 &7
What type of threads are suitable for small precision components and measuring gauges?

4y Tofeer vETivREA T 9§/ British Association screw threads
(k) fgeay Hp 215 / Whitworth Screw threads
{©) Uﬂfﬁ 95/ Acme threads
(&) FFHFARR Ug / Square threads

16. ¥UX FIVT F TAF ANA F v FEAfai@a & ¥ Bhw 39ERor &1 3uar R S g

Which one of the following instruments is used to measure accurately the angle of taper?
(a) 1T AT/ Bevel gauge
(b) Taet WIgHeT / Bevel protractor
¢y afaay fger 9i¢eeT / Vemnier bevel protractor
(d) 29T 3197 / Taper gauge

17. T& &&@ QI FT 9t fRnieT g g
A tab washer is used for
(2) Had: JiFawe / Self-locking
) A w T/ Lockiné the nuts
{(c) 9 YTIF/ Avoiding vibration
(@) wrEarme T ol S+ & ToIT / Fastening fabrication work

& Post Code Na. !
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18, TH d B werS(er.), G () FU RS () FHIEIF 47T T F aAIed §
The shearing area of z i 3y of length (1), breadth (b) and depth (h) is equal to
() W xF/bxh
() dxH/1xh
(c) @xd/1xb
() FT=T2/1xb2

19. 33 H/fET #T @ & a9 F Ty 10 B T @ @ B wa & v s

TH. $r o W |
Calculate R.P.M to drill a hole of 10mm diameter with cutting speed of 33 m/min
(a) 1000
(b) 1050
(c) 330
(d)y 300
20. Y 3e]Here URRAT EERT FEIE H HEEA qelelT T HIREAT T FAT HETh &2
The toughness in a steel is increased and brittleness is decreased by a heat treatment operation
called as

(a) 3TATeleRLUT / Annealing
(b) WHTHFITRIT / Normalising
(c) EFIRAT / Tempering

(d) YSEHSOROT/ Case hardening

1. T T S TR B S S & R @ A afte o & arr dge g § 59
T HEd ¥ ?

A force which combines with two or more forces to produce equilibrium is called
(a) YTROTHAT/ Resultant

(b)y T/ Equilibrium

(¢) IIA/Couple

(d) 3-'I'IE|;U? / Moment

22. TUE ™A AN H 93T - F O Fuer & Qv Fa ST §

Flush pin gauge is used for checking— — of hole.
(a) TATH / Diameter

(b) TETS / Depth ‘
(c) HVeTS / Thickness
(d) dfS/ Thread

7 Post Code No. 11
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23.

24,
25,

26.

ﬁmﬁf@ﬁﬁﬁmﬁm@maﬁmﬁmm%ﬁvmﬁ;
STl 87 '

Which one of the following processes is used for hardening the surface of tool steel?
(a) EFI’%)TUT/ Carburizing

(b) HITASEA / Cyaniding

(c) IS ST/ Induction hardening

(d) FHSRUT/ Hardening

eI T H NI T Iard FAT Fgernar g2
The ratio of lateral strain to the linear strain is called
(a) WY FT AT / Modulus of elasticity

(b) T & ATITEH / Modulus of rigidity
(c) 3T IR I[UT / Bulk modulus
(d) cqTal 3T/ Poisson’s ratio

FaRa R safier o Wl §

The tapered roller bearings can take

: (a) el T A / Radial load only

(b) Haer 3TERT AL/ Axial load only
(c) 3Tefrr ud P35 IR g1/ Both radial and axial load
(d) 3‘1‘%&?—\' 7Y ﬁé 8T / None of the above

TEEs g Al e Ry gfierer § @i §
Izod and Charpy machines are related to which test

(a) Wqﬂaﬁw / Impact test

(b) &5 TETUT/ Bend test |

(c) i OITE0T / Fatigue test

(dy s {18707 / Tensile test

8 Post Code N
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27. 31eT drafer ‘o’ vd 3t ogseT b’ & @y &gy 1 SAhe ar gen

The area of an ¢li 1se with semi major axis ‘a’ and semi minor axis ‘b’ is- -

28.

20,

30.

(@)
(b)
(©)
(d)

T ab

4w ab
2 mab
T ab/2

Ty smaarER AT F1 aTea 150 T s ¥t AR sEH aReny 50 seE ¥ oar

g faATt gl —————

The area of a rectangular field is 150 sq. units. If its perimeter is 50 units, its dimensions are

(a)
(®)
(c)
(d

2,75
3, 50
5,30
10, 15

15° FERE T 25 A &6 I oA [RerE Jdr §, O aiat & 7w 1.8 S &

ReFd vt ge ol § 3l o=12x10°C, & a fovder a8 vF g@ & A
L)}

Rai
left

lway lines, 25 m long, are being laid when the temperature is 15° C. Gaps of 1.8 cm are being
between them. If a=12x10%°C, the temperature at which they will touch each other is

(@)
(b)
(c)
(d)

(a)
(b)
(©)
{d)

25°C
30°C

13T C
100°C

WHWHWWWWWN ?rﬁr &

The perimeter of a semicircle of radius 21 cm is

42 HH/ 42 cm
66 T.HY/ 66 cm
87 W.HI/ 87 cm
108 &A1/ 108 em

9 Post Code No. 11
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31. wmwwai@mﬁagluﬁm/%@m%m‘r’?wa@ﬁﬁ
'h'%msﬁmmmaWd'-:ﬁmmavm

A cone is sitting on a semi globe. If the radius of globe / cone base radius is ‘r’ and the cone he
is “h’. What is the volume of the solid?

(@) 31 @r+h)
(b) grz (4r+h)
(© 3r@+h)
@ Zr Grh)

3. uf¥ sin @ +cos 8> 14l
If sin © + cos 6> 1 then
(a) 0°<8=<90°
(b) 0°<6<90°
() 0°<8<90°
(d 0°<0<90°

33, 3iferelTevor T A ¥

_ The word oxidation means

(2) T 30T AT GLAT] G gargele dr &1fd / The loss of electrons by an atom or a molecu
(b) el ey & I 7{Ed ftaoteT of GieAeA / Combination of free oxygen Vv

substance

(c) AU & g Hd REEEGED afF#ee / Combination of free hydrogen with a molecule

(dy TR IAUTAT ORAT] S@RT et Sy &7 / The loss of protons by an atom or.a molecule

34. waﬁaﬁﬁﬂuwﬁwmma@ﬁﬁaﬁﬁ?

Size of solute particles in a solution is in the order of
@ 10t10% em

() 107t010%cm

©) 10710107 cm

@ 10 to 107 em

10 Post Code
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35.

36.

37.

38.

39.

YROT Y3 H wAA 3@ fre 9w PR e 2
The time period of a “imple pendulum depends on
(a) 19 T gTATT / Mass of the bob

(b) GIeleT &] HTATH / Amplitude of oscillation
(c) efg?ﬂ? HT TS / Length of the pendulum

- (d) EQ'{E:TCFW/ All the above

UIIT 19 HT ST Aroes gl 8 wifen ?
Metals are good conductors of heat because

A 3T HqFd Folarclell st &A1 A 81T & / they contain large number of fiee electrons
(b) 3qH AT IEFFTH a3 &I & / their atoms are relatively far apart e
(©) BT-I'Q-T YIHATI] 39 H THUA & / their atoms collide
(d) 3 TAE QRIade gl § / they have reflecting surface

A cotp = 2 T 2EETE @ an T w2

cosP-sing
cos @+sing .

b
If cot @ = = then the value of -
a cos@—sing

(a) (bta)(b-a)
(b) (atbla-b)

(c) (b-a)b+a)
(d) (a-b)(atb)

A TF 1 3T FHOT 30° F A 10 ) Ferd A 93 A oRr f des g1 g 2

The length of shadow of 10 m high tree if the angle of elevation of the sun is 30°
(@ 20V3m
(®) 1043 m
© 203w
(dy 10v3

T 0-25 TAHY MR amgent #fex & frar s/ st A oo &2
Which is the false reading measured from a 0-25 mm metric micro meter?
(a)  20.200 mm ‘

(b} 20.220 mm

(c) 20.022 mm

(d} 20.210 mm

3

11 Post Code No. 11
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40. aﬁmﬁﬂ?ﬁ(v)mﬁ/ﬁatamqﬁmqﬁﬁiﬂt(n)aeﬁﬁwﬁa‘famm(@

41,

42.

el 3 I X BT FE G G
Choose the correct formula to find the diameter of job (d) in mm, if the cutting speed (V) in m/min
and revolution per minute (72) are given :

__ 1000w
(@ d= —
T*T1
() 4= Toow
_1000+T
(© d=——
1000=1
@ d=——

Zofrar STTan?
While setting the angle with sine bar which side of the right-angled triangle the sine bar represents?

\\
AN

=

4

Hypotenuse (z) R

P

| @

.-,

4 -

M ]
X ) v
ak_—————’——’b b

1
Adjacent side {x}

(a) fada 313'” Opposite side (x)

(by 3T ATl / Adjacent side (¥)

(©) 07/ Hypotenuse (2)

{d) et fawle AT 3R T 35!3'61T/ Both opposite side (x) and adjacent side (y)

ﬁm’@m@%gamﬁ%ﬁtﬁmﬁﬁm?ﬁ%wﬁmmﬁ;ﬁﬁ?

Which one of the following groups of properties enables the manufacture of chain hooks from
wrought iron? '
(a) oo, SETAAEEAT J2T FARaT / Ductility, Malleability and Hardness

(b) FOIRET, THer o e/ Hardness, Toughness and Ductility

) () TS, deday adT w551t / Malleability, Ductility and Toughness

(d) A, THEA adr 34“{_[3'8"{ / Hardness, Toughness and Brittlencss

12 Post Code No. 11
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43. SIRFT €. 6205 &1 AT A fhaeT &2

What is inner diameter « “bearing No. 62057

(a) 62f7#H /mm
() 20fAA. /mm
() 5T /mm
(@ 25FFA./mm

44. 9 NS & yAeT & forw frar smar &
Snap gauges are used to

(a) 93T AT FT & FAT/ To check the thread

(b) TFE 3R SR Y ST T F FAT/ To check the shafts & bores
(¢) & TAAT TS faT/ To adjust the Jaws

(d) S 3T T IS T F AT/ To polish bored holes

A5, Ww%ﬁmaﬁwmﬁwgmsﬂtﬁm%ﬁw%@'gmwﬁmﬁ
FAT Fgl &
The property of a metal to absorb energy and plastically deform without fracturing is called
(a) 9SeTdT/ Strength
(b) WBRAT/Hardness
(c) Teear/ Toughness
(d) TIAT/ Tenacity

. a@ﬁw%%mwmﬂamﬁmm%ﬁﬂﬁsﬁmaﬁﬁﬁaa
mﬁzoam.ﬁ%ﬂréwmﬁé?ﬁvﬁmﬁaﬁﬁaﬁmawm

A machine table is lifted by means of a double start screw thread which had a pitch of 5 mm. How
many revolutions are needed to lift the table to g height of 200 mm?

(a) 20 ‘E[\Uiﬂ’/ 20 revolutions
(b) 40 YOI / 40 revolutions
(c) 10 “E‘I:Uﬁ?/ 10 revolutions
(d) SHEEHT qH &g 761 / None of the above

i3 Post Code No. 11
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47. T AfEE A Wsagrmag’rar%?
All metric taper pins have a taper ratio of - - ———
(a) 100#1/1in 100

(® S50H1/1in50
(c) 25FH1/1in25
(d 20#1/1in20

48, Prad AT TRUr A1 AT HEE AR g ¢ ?
The efficiency of power transmission is maximum in case of
(a) U9 IET/ Rope drive
 (b) GHd JgT drierd / Flat belt drive
(¢) o -TEr =i / V-belt drive
(d) #EeT uRETets / Chain drive

49. W,WWWWﬁMﬁmﬁmmﬂﬁﬁﬁﬁmmﬁaﬁ
arelr giEd 87
Devic: used for holding and guiding the tool in drilling, reaming or tapping operations 18
(@) T/ Jig
(b) TreEE/ Fixture
{c) i€ / Templates
() 3‘51'2_53?[ # J IS €T / None of the above

50 IOf¥eT 9 WHEEED: FEY ¥ 8l §7

Generally bearing bushes are made of
(a) =T/ Copper

(b) Uil / Brass

(c) BIEE ATH / White metal

(d) 9N« ATl / Gun metal

14 Post Code No. i1
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16,

il

ma;gﬁ%mawwa@m%%mﬁrﬁmm, el fafay 3ot /e (), (1), (o)
T (d) o] g1 3 & T §F Seok WY 8 / Bach objective question is provided with a text
and/or figures wherever applicable with multiple answer choices (a), (b), (¢) and (d). Only
one of them is correct.

mnmaﬁawﬁvmagaﬁﬁaﬁtmﬁq&[mmﬁaﬁﬁgﬁamm
AR e W w8 Fae A Jgar e @i qige FAR F @ 94 FY/ Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for
writing on OMR sheet and marking your answers.

-mﬁa@ﬁfﬁw%qaa‘réaﬁxm@wmaﬁaﬁﬁﬁ,ﬁ%waaﬁrwe@w

IAT oAl 9K UH 3@ @er aneanw [/ All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

TF g & R SeaRl BT IR IeaX AT SwEn
Multiple answers for a question will be regarded as a wrong answer.

magﬁm%aﬁm%mﬁm#AmBmcmomeﬁf{fﬁﬁﬁmw‘g,.:ﬁ’r
BN e 7§ BT T F5s W o (Fee) A S & e e g1 ow ® a5 W
Feay qeaat $r Sird @l T st / Question booklets have been marked with A or B or &

or D or E on the right hand top corner, which is mandatory to be written on the OMR sheet
in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

awaF g W T6 H g g #F BT v Red T w1 308 g § T § P
ofrc #gt &romualy / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided.

a’rqaa*am'?ﬁtrag?ré’rm%ﬂwﬁﬁ,mwmwma’aﬁaﬂﬁl T 3T IR
T BT JUT 9% e 9 g9 X T@Hhd 8l / Do not waste time on questiens, which are
too difficult for you. You can go on to other questions and come back to the difficult ones
later.

wﬁm#wwa’ﬁwr(i)mmgﬁ%ﬁaﬁmwﬁﬂﬁwmmmxmm
gfeea farferar o Ao & ear Rl off groma & el &oF AT & & W 1 At the end of
the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances. ;

sy Traver ¥ S R wew & TeE g7 o, 39l faaver € gue g/ In case of any doubt
in any question between the language versions, English version will prevail.

e ok e ke
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